2025HBLIZ FrkiE (RBRER)

B 40 = 40 srpsE 32.0  32.0

= 3 5y 3 | % g % 5

TEAM| %81 5% | slalulup =« ||| w |0 |s o | nlme s Bl R | a| = x % %
1| el h_>4 118 |7 |4 |0 |3 |1 |3 |47.0 (/191 (170|742 |37 |1 |0 |0 |20 [0 |53 |8 |2 |18 [15 |2.87 |15.79 |1.21 |0.218 |10.15 | 3.83
2| m LY 2517 |3 |0 |2 |2 |2 |453 ||206 (157 {910 |29 |1 |O |1 |45 3 |68 |15 |4 |32 |15 |2.98 |20.07 |1.63 |0.185 |11.61 | 8.93
3 el | AL FEE (19(11]19 [0 |1 |0 |0 |71.7 |[329 (284 |1202 |78 |1 |1 |3 |35 |6 |61 |5 |0 [34 |28 |3.52 |16.77 |1.58 |0.275 | 7.66 | 4.40
4 ER® | ZH AN |10[(9 |6 |0 |2 |0 |0 [52.3 /250223809 |76 |3 |0 |1 |23 |3 |14 |1 |0 |35 |34 |585 |15.46 |1.89 |0.341 | 2.41 | 3.96
5| =R | =L EP (2414 |7 |2 |50 |3 683|361 310 (1416 (103 |3 |0 |2 |41 |8 |61 |8 |0 |73 [56 |7.38 |20.72 |2.11 |0.332 | 8.03 | 5.40
6| BR® | &H KB (126 |1 0|1 0 |1 32.0/178|132|701 |42 |1 |0 |4 |35 |7 |16 |7 |0 |34 |29 |8.16 |21.91 |2.41 |0.318 | 4.50 | 9.84
7 E2R8% | 5H =% (188 |2 |0 |6 |0 |1 [58.0 |[336 (272 1305|105 |4 |0 |5 |52 |7 |29 |[13|0 |81 |66 |10.24 |22.50 |2.71 |0.386 | 4.50 | 8.07
8| el ayyv 1515 (2 |1 |1 |0 |1 |43.0|238|190|863 |68 |1 |0 |7 |39 |2 |39 |6 |0 |56 |50 [10.47 |20.07 |2.49 |0.358 | 8.16 | 8.16
Er®% | PR |9 |5 |0 |0 |30 [0 |27.3 |/154 (117|573 |37 |2 |0 |2 |30 |5 |17 |6 |0 |39 |26 |8.56 [20.96 (2.45 |0.316 | 5.60 | 9.88
ER® | M &£X |6 |10 |02 0|0 227 ||129|100 |468 |42 |1 |0 |5 |23 |1 |7 |13|0 |38 |36 |14.29 |20.65 |2.87 |0.420 | 2.78 | 9.13
ERE | =4 BR |6 |5 |1 (0|10 |0 220 |[126|110|437 |41 |1 |1 |2 |11 |2 |14 |5 |0 |31 |22 |9.00 [19.86 |2.36 |0.373 | 5.73 | 4.50
B ZLy bk 12000 |2 |2 |2 |1 |1 |21.3||105|79 |428 |16 |0 |2 |0 |20 |4 |33 |10 |6 |20 |13 |5.48 |20.06 |1.69 |0.203 |13.92 | 8.44
i | FAN—bk |8 |3 10 |0 |1 2|2 |150 (/92 |62 (364 |21 |1 |0 |1 |23 |7 |8 |7 |1 |26 |20 |12.00 |24.27 |2.93 [0.339 | 4.80 |13.80
Jeall RE 6 |2 |10 |3 |0 |1 |12.01/65 |48 |246 |16 |0 |0 |0 |14 |3 |3 |1 |0 |17 |17 |12.75|20.50 |2.50 |0.333 | 2.25 |10.50
el | kA X% |3 10 [0 |0 [0 0|0 |103 |52 |45 (172 |16 |0 |0 |2 |4 |1 |2 |0 |1 |12 |7 |6.10 |16.65 [1.94 |0.356 | 1.74 | 3.48
B TAR 4 11 /0 0111|000 [10.0|[60 |53 (197 (23 |0 |1 |0 |5 |1 |6 (1|0 |18 |15 |13.50/|19.70 |2.80 [0.434 |5.40 | 4.50
gr% | 2)Il X~ |2 0|0 0|0 |0 [0 |87 |/45 |41 |162 |15 |0 |0 |1 |2 |1 |3 |0 |0 |7 |7 |7.27 |18.69 [1.96 |0.366 | 3.12 | 2.08
Bil | iR % |6 |1 /0 |0 |1 |0 |0 |87 ||54|37]198 |14 |0 |0 |1 |15|1 |1 |1 |0 |18 |17 |17.65 |22.85 |3.35|0.378 | 1.04 |15.58
e | pEs ®A |1 |1 (0 |0 |0 |0 |0 |50 ||24(20(98 |6 (0|0 |1 |3 |1|0 |1|0 |4 |3 |5.40 |19.60|1.80 [0.300 |0.00 | 5.40
Bl | 2= 2 1100|100 20 |/13]9 |35 |4 0|01 |2 1|0 0|1 |5 |4 |18.00/17.50 3.00|0.444 |0.00 | 9.00
i £pE Bs |2 0 (0|00 0|0|20 (|8 |7 |3 |1 0|0|0|1 (0|2 |0|0O|0 |0 |[0.0017.00/|1.00|0.143 |9.00 | 4.50
8l ~ o 1/0/0|0|0|0O |0 |17 ||9 |4 |40 |0 OO 2|3 |2|0 |1]|0 |2 |2 |10.80|24.00 |1.80|0.000 |0.00 |16.20
ER® | I A% |3 /2|0 (0|10 (0 07 [|17 |7 |67 |5 1|0 |0 |8 |20 |1 |1 |9 |7 |94.50 10050 [19.50|0.714 | 0.00 |108.00
el Arpx |1 10|01 ]0|0|07 ||11 |4 |50 |1 |0|0|0O|6 |10 |2]|0/|9 |2 |27.00|75.00 |10.50|0.250 | 0.00 |81.00
i = &% |2 00|00 |0|0 03| 4|0 19 |0 |0|0|0|4 0|0 |3]|0 |3 |3 |81.00/|57.00|12.00 #DIV/0!| 0.00 |108.00
e | o #%wE (1|0 |0 (0|0 |0 |0 |00 514 126 |4 1]0/0]1 0|0 |1]0]|5 |5 |#DIv/0O!|#DIV/0!|#DIv/0rl1.000 |#DIV/0!|#DIV/0!
TEAM ensen | SEFE] BE [ S | & | H | HP [ BEREI[ FIE [ FIE3RE gas] [ ween | BT R PUER PER | =3k RI%[#—7| Ko [BES] B | P/IP_[WHIP [ #IT3K [Z=ixE| 5POERE

ERE 90 | 40| 17| 2 | 21| 0 | 5 |292.0 ||1596|1312|5938|466| 16| 1 |22|225|36|161|54| 1 |347|281| 8.66 |20.34 |2.37 | 0.355 | 4.96 | 6.93

7Bl 133/ 40| 21| 3 | 17| 6 | 10|296.0 ||1466|1173|5624|334| 6 | 4 | 18|240|32|266|62|15|279|214| 6.51 |19.00 |[1.94 | 0.285 | 8.09 | 7.30




